%lege Algebra

Chapter 7 Partial Fractions Day 2

Find the partial fraction decomposition.

X+t

x+7 —
= (X=3)(x+2)

x1-x-6

1)

YX+F 2 AX-R) + R (x+2)
¥+rF} = Ax—-23A * BX + 3D
X+t = Ax+BX-3A AR

X= Ax+R % - \-A«—Bé
+=3R+ 3k 3F=-3Aw

ERTNEIRE

Name Y\ YO A

Date: Period:

2) 92-7 o _ Ax-F.
2x" -3x+1 (2% ~1) (X*O

A=+ = AC2Zx-1) + B(*-D)
Ax-F=aAx—A vBx—-B




%) 7x-26 A - 2b
x-6x-16 QX"S)Lx +;_)

Fx-26= A (%~3) +B*+a)
IFx-26=Ax-8A +Bx + 3B
T Fx = AX v+ BR *
—20 =-3A 2B

|5 a\]‘ [—1] : ﬁ%?

|

-3x-23
xt-x-12

4.

_B;Q "2-3
7 G0 '

—3w -2 = A (A9 + B (C*® *‘3>
—2x-23 = Ax 1A x Bx r3R%

—2x = Ax +Bx
—3d = =4h + 35
A
-5

3T

4, =5
X¥3 S




nd the inverse. Multiply.
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Create two matrices for the situation, then use matrix multiplication to's
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olve the problem

ir wives. John’s bouquet contains 4 roses, 5 carnations

John and Phil decide to make two bouquets for the
t of each bouquet if each

and 3 lilies. Phil’s bouquet contains 6 roses, 4 carnations and 3 lilies. Find the cos
rose cost $3, each carnations cost $1.25 and each lily cost $4.
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A school store recorded how many pencils, erasers, and binders they sold for two different days. On
Monday they sold 48 pencils, 7 erasers, and 9 binders. On Tuesday they sold 54 pencils, 10 erasers, and 6
binders. If the price of each pencil, eraser, and binder, respectively, is $0.20, $0.35, and $2.85 hov\'/ much

was made each day?
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